=}
.z
PELCO PRODUCTS, INC.

www.pelcoinc.com

PH: 405-340-3434
FAX: 405-340-3435
Edmond, OK 73013

This drawing is the property of Pelco
and is not to be used in whole or in part
without Pelco's written permission.

ASSEMBLY CUT SHEET

REF:

TITLE:
Cable Retainer Assy for 4" Foundation Anchor,

10" Plate w/ 8"-10" BC, Steel

PART NO.:

SP-6405

Example Part No.
SP-6405-GLV

GalvanizedJ

8.00-10.00 BC
(Bolt slots to accommodate 1" dia anchor bolts)

{H
]

Pelco Assy.idw 8/20/18

Note: First saddle #5 Conductor Guide onto #8 Cable Retainer Side View
Weldment before assembling #3 bar & #4 Pads (See Note)
ITEM |PART NUMBER DESCRIPTION QTY
1 |FS-2016-SS Bolt, Hex Hd Tap, 5/16"-18 x 2-1/4" , Type 304 Stainless 4
2 |FS-4101-SS Washer, Flat, 5/16" x 3/4" OD, Type 304 Stainless 8
3 |SP-6199-3-GLV |Bar, Cable Retainer Assembly, Steel 2
4 |SP-6199-4 Pad, Cable Retainer, 1/4" Thick, 40 Durometer, Red Urethane 4
5 |SP-6251-GLV |Weldment, Conductor Guide, for 4" Cable Retainer Assy, Steel, Galv 1
6 |FS-4201-SS Lock Washer, Split, 5/16", Type 304 Stainless 4
7 |FS-1001-SS Nut, Hex 5/16"-18, Type 304 Stainless 4
8 |SP-6404-GLV |Weldment, Cable Retainer for 4" Foundation Anchor, 10" Plate w/ 8"-10" BC, Steel 1
Galv
9 |0-3212 Label, 1" x 2", Product Part Number 1
10 |Z-2057 Instructions, Cable Retainer Assembly SP-6200 1
TKM 3/25/2021 | JSH 3/29/2021 | KAK 3/29/2021 | RKV 3/29/2021 SHEET 1 OF 1

DRAWN: DATE: CHECKED:

DATE: MEG ENG: DATE. QA. DATE: REV. DATE. REV CHK'D: DATE.



Jeff
Typewritten Text
(Bolt slots to accommodate 1" dia anchor bolts)


- (10.00) -

=— 500 ——m

(@8.00BC)

A

(1.25)
\2( (TYP 4PLCS)



	SP-6405.idw.pdf
	SP-6405 plate.pdf



